RSy

—REBR(TERE) 51.13 11.54
—RRB(FRE) 56.13 7.69
— i REB(SET) 60.03 10.53
—RRBRERE) 52.3 6.67
— R RE(Frdkm) 57.17 12.5
— ik EE(Z4t™™h) 59.17 5.56
— iR R (R 50 11.11
—BITR(TEE) 62.93 1.82
—RITHR(TERE) 54.07 10.81
—RRATE(FRER) 55.5 8.33
— AT ™) 62.4 1.73
—RITREEE) 60.5 4.27
—RRATEGETER) 51.37 14.29
—RITRERE) 57.23 5.56
—RRATER(FrdL ™) 59.6 3.57
—RRATE(ZHT™) 61.87 2.11
—RATE(ZALT) 65.13 1.27
— R TE(Z=m™) 60.33 2.76
— AT (SR 51.77 12.5
ABITRITEE) 61.83 4,55
ABITHRIERE) 66.33 5.56
AFITBR(ZMER) 61.13 25
AFEITE(BEET) 64.7 5.83
ABTR(EH™) 61 2.25
AFTRERE) 63.57 5.94




ASBITH 57.73 11.9
58.63 2.55

AFETH 60.1 4.72
54.43 57.14

50 29.41

57.97 50

51.43 34.78

50 52.94

59.1 19.72

50 25

50 37.5

50 50.53

55.83 41.18

60.53 21.57

56.37 25.76

KIFE 61.83 19.57
T ARITRE(F: 50 12.5
ABAHE TR RE) 62.4 13.33
NS T/EEN(TERE) 53.87 12.9
SNBSS T VEER (BkE ) 56.5 16.42
AN E TN (S i) 58.03 6.67
AHHET/FEN(REERE) 55.53 25
AEHETEMERRE) 56.57 14.63
ANEEE TEER(FTAL ) 54.37 14.52
ABE TEER(BIRE) 60.3 5.26
AR E T /EER(Z P Hh) 57.33 7.55
B E T /EEN(ZAL ) 54.97 11.76
B E T /EEN(ZR™) 51.73 15.38




AHEEMERR) 50 0
ABEEMERRE) 50 0
N ERERERAM (B IR [E) 50 0
A EEREERT (TTE ) 50 0
ANHEREEER (TEHE) 50 0
INEREREEEM (£ PER) 61 33.33
NN 65.43 33.33
N B EREE R (BRI ) 50 0
NEREREERT (S RETH) 62.33 33.33
AHENEEEERE) 50.17 50
AHEEM(ERRE) 50 75
NS EREERM (FrL ) 50 100
ANHEREEER (ZHTh) 59.57 16.67
ANEEREEET (=R T) 50 33.33
FE (k) 54.6 4.17
FE(Frdem™) 56.27 11.43
FE(Z4h) 58.97 2.7
FE(Z4cm™h) 56.47 12
XA TE (BRET) 67.83 1.82
XALTB(ZEHT™) 64.87 0.59
XALITE(ZALT) 67.07 1.14
KEIFEHIREETR) 60.2 9.09
KERZIRERRE) 57.17 8.33
KERFITIE(FAL ) 55.3 7.69
KEBRFTIE(ERH) 58.03 8.33
KFI TR (FRER) 60.67 14.29
JKFI TFE(BKET) 74.73 20
KFAIRREERRE) 74.67 20




KFITE(ERRE) 69.47 12.5
KFITFE(Frdeh) 63.97 40
KF TR (ZHTH) 68.03 17.39
KF T (Z=ALT) 73.73 20
KFTIE(=m) 60.73 16.67
ZRBITH(EEET) 55.47 4.69
ZBITH(ZALT™) 60.77 2.17
BT (BEE) 53.57 40
BT (=) 53.93 16
RBERMNERRE) 61.27 20
BRI ERRE) 60.3 13.33
B BT (Fr AL ™) 50 16.67
B (ER™) 58.33 16
R E R EP A)) 60.73 9.38
MR (T E &) 57.97 5.88
Hh B (TE R [=) 50 7.69
Hh B (< P9 1ER) 55.13 25
Hh i (BE B ) 52.73 11.94
B EEE) 50 7.69
HB(ERE) 51.6 9.52
Hh g (FrdLTh) 52.83 15.79
(=) 54.33 8.96
B (Z L) 52.47 12
Hh R (752 5 5%) 54.37 27.27
MEET (FeTh) 62.1 4
EHI(MTE =) 64.97 2.38
I (FEERER) 63.67 1.49
2 il (B Bl i) 59.4 4.17




sl (b ) 61.83 0.89
EERR(TERRE) 60.47 3.81
R RB(HET) 61.6 1.89
EERB(EH™) 68.37 0.71
FERB(EERE) 59.53 3.13
RERB(FTLT) 64.77 3.64
RERB(ZALT) 62.03 1.72
HETHR(MTERE) 55.1 13.33
#HETB(BKET) 56.07 5
HETREER) 58.47 10
A ETER(EFTL) 53 14.29
#HETBRESHT) 56.3 2.41
A ETHR(ZEAL) 61.27 12.36
HETB(ZR™) 60.43 4.08
BEIRMERE) 50 14.29
BETEBKET) 50 22.22
BETREED) 55.37 50
BETRERR) 60.8 16.67
BEIREERRE) 54.33 60
BETEFLT) 50 38.46
BETEERRE) 50 0
BETREHT) 54.77 32.43
BETREIH) 50 63.64
BEIREREM) 58.93 17.65
BETR(ZIHNER 50 0
BT E (B ) 60.93 3.67
HRITR(EERRE) 54.9 11.76
HRITH(ERRE) 62.73 1.59




B ITE(Z=FL ™) 57.63 4.04
Eﬂﬁﬁﬂz(éﬁﬁfﬁ) 61.5 2.35
HAHE BR B (BB ) 58.2 3.85

B RS BRI (Fr L Th) 51.77 5.88
B RE(ZALT) 52.9 4,76
BT (Zm™) 64.93 6.67
ERTREERR) 55.23 12.5
ERITE(ZAL) 61 7.14
HETRIERE) 58.97 6.15
HETR(FRER) 58.33 1.72
HETR(EIR 58.97 10
BETREFAL) 60.2 3.17
HETHR(ZES) 60.07 2.42
BITHR(ZIL™) 63.17 1.02
et E RN (FAL™) 52.63 21.21
R ET SR (FRE) 50 0
#Et S A(E ™) 54.17 13.04
#EtERM(ZEIL™H) 59.93 11.11
wER(HkE) 64.7 25
= (FrdeT) 58.77 12.5
e (ZEHTH) 64.33 9.52
AEHE(MTEE) 50 25
AEHE(TERE) 54.9 27.78
Al £ BB (£ FIER) 50 0
A & RS (FFRER) 50 26.67
Al £ 2B (WK E ) 50 10
Al = BB (S ) 56.2 20
ERE(RERE) 50 0




AEHEERRE) 50.4 34.62
A= R E Frdemh) 56.67 27.27
A=HE(ERE) 50 37.5
A=HE(ZED™H) 55.17 13.04
AR E(ZAL™H) 56.73 12.5
fRET(TERE) 71.93 5.26
frat (=) 66.57 3.8
i (FEE B X) (BkE ) 58.97 20
i (EE ) (BKE™) 64.7 12.5
i (FEE R XX) (FrdeTh) 75.73 3.57
FEEREX)(ZEH™H) 72.7 4
i (EEEX)(ZEmRT) 72.87 4.35
git(MEE) 63.47 8.7
SEH(ERE) 56.47 19.3
T (FRER) 56.63 28.57
it (BkE) 60.67 10.34
EEH(EHET) 63.17 5.56
SiHEERE) 50.17 16.67
it ERE) 61.07 7.34
SEt(#Eit™) 56.4 13.89
it (ERE) 61.43 10
it (=EFH) 58.6 1.64
B (ZEALT™) 59.37 8.85
Sit(ZEmm™) 57.3 8.51
RETRIERE) 52.03 40
RERITR(S M) 62.23 9.84
RETREERR) 62.23 16.67
RETHERRE) 52.4 40




REITE (AL ) 62.13 17.65
RETHRERRE) 60.9 16.67
EEITE(ZEPTH) 62.97 8.33
REITR(ZALT) 58.33 15.15
BEEMHE) 59.53 4
BEFRE(ETIR) 55.4 33.33
BEEFAL™) 56.97 3.45
BEFEE(ETH) 56.4 2.86
HIREEILH) 54,17 4.08
BIRE(ZHR 56.2 12.5
RERITHR(IERE) 66.07 5
REITH(ETL) 58.77 11.11
EERTHRERRE) 57.4 4.35
EERTB(ZELH) 63.33 10
EEREMMTER) 54.93 11.11
EERIMTERRE) 51.3 13.04
=R (FRER) 60.2 14.29
=R (S ) 59.27 7.69
EEBRMERR) 60.23 7.69
EEEMERRE) 53.7 8.33
REEEMERRE) 58.03 2.38
RERIN(ZE™) 58.93 5.56
BATFE(KE) 50 16.67
BAIRE(EHED) 51.93 6.9
BEHIRERE) 50 0
BATEFIL™) 52.73 16.67
BATEEH™) 59.77 12.5
BHIE(ZEI™) 51.3 12.5




BNIR(EHR 50 0
BEFIRERRE) 58.47 3.03
BEE&AEEEHEX) (M) 59.8 16.67
BEEZEEATEEHEX)(EERE) 64.67 7.14
BEE&AEEEHE)(ZIL™) 66.7 4.35
BETHR(MTEE) 55.83 9.52
BETE(FALT) 58.43 3.03
#AETREZRE™) 58.2 2.59
FERMMTER) 62.33 5.56
BERM (M) 60.9 33.33
BRI (S ) 62.93 8
BERMNMEERR) 64.27 12.5
B BT (AL ) 63.5 6.78
BRI (ZESH) 64.67 1.92
BRI (ZAT) 61.77 6.25
BRI (ZRE™) 62.07 5.56
W IR (S ) 58 10
Pt T2 (Z=4LTh) 70.53 3.7
IRRITR(TERE) 59.03 10
IRRITE(BKET) 56.17 11.43
IRRITE(ETRR) 58.6 11.11
IRIRITE(FTAL) 60.83 6.06
RRITRERE) 64.97 8.33
IRIRITE(ZH ) 62.23 11.11
IR (ITE =) 63.93 10
IRIREIT(TERE) 58.13 33.33
IRRB AT (S ) 55.13 11.11
IRRBRMNEERR) 55.53 11.11




IRARBRMERRE) 58.23 13.33
IRIRET(ZALT) 58.23 9.09
IRIE T2 (BKE) 53.13 20
IRIETRR(EILR) 63.53 50
IRIETIE(ZEHh) 66.57 5.56
IRIETIR(ZAL™) 55.37 25
BEZEHE(SHE) 51.27 8.82
=8 TE(ZILT) 66.43 1.89
BIAITRGER B R (TERE) 70.43 4.17
BT GER B XK (ZH ™) 77.73 1.96
BT GER B LKD) (=R 75.97 7.14

( )
—RRB(TERE) 67 9.09
— R REU(BkET) 70.67 3.39
— R RB(E ™) 73.83 2.42
—RRBEEE) 75.83 3.13
— R REGETER) 59.17 33.33
—RERERE) 72.33 3.8
— R RE(FrdLTh) 68.17 10.26
— i RB(FRE) 80.67 2.13
— i RB(Z=H™) 67.17 2.27
— i RB(=dbm™) 70.67 10
— R RB(Zm™) 73.33 1.91
— R R iR 63.67 12
—REITR(MTEE) 76.83 1.2
—REATR(TERE) 70.83 3.39




—RRATER (= PIER) 71.83 5.26
—RATE(BKET) 77.5 1.12
— R ATE(E M) 77.33 0.51
—RITREERE) 77.33 2.32
—RRATER(GETER) 69.67 7.69
—RITRERE) 75.5 1.12
—RRATE(ZHT) 77 0.27
—RATE(ZALT) 76.5 1.37
ABITRIERE) 73.17 3.13
ASETB(BKET) 73.17 3.33
ABTR(EH™) 72.5 1.63
ASFTE(FRALT) 71.83 5.8
AFITBR(ZEHT™) 74.83 1.3
AFITER(ZEALT™) 71.5 4.63
IRIEMERE) 50.83 54.55
IARIRIERE) 50 20
T ARIE(E=FER) 68.17 12.5
TRIBFEREK 63.5 10.53
T ARTFE(BKET) 54.5 28.57
TARIFE(EHET) 64.5 9.43
IARIEREERRE) 51.83 23.81
T ARIFEGETIER) 50 50
IRIRERRE) 56.67 22.22
T ARIFEFIL™) 50.17 52
IARIHEFRE) 57.83 17.65
T ARIE(ZFH) 59.33 15
TARIFE(ZI™) 56.83 30
TARIFE(ZrmH) 57.17 15.38




T ARIFE(ZIHER 50 20
FB(MH&ERER) 74.83 2.86
FHE(TEXR =) 73.67 4.17
FE(#kE ™) 71.33 4.49
FE(#Frdkm™) 73.17 6.59
FE(Z%h) 74 0.94
FE(Z4cm™) 72 6.94
F B 5% 75.83 6.67
XALATE (kB T) 62.17 3.13
XALITHR(EERE) 62.17 1.37
KR TR (ETER) 56.17 33.33
KFITEREERE) 57.33 33.33
KIIFRERRE) 68 25
KFI TR (ZALT) 69.33 50
B TE(HkET) 58.17 8.57
BB (EMER) 52.83 30
RBERMERRE) 63.17 9.09
BB (EIER) 58.33 66.67
BRI (ERT™) 52 20
REF T (EAL ™) 58.17 6.45
(M E =) 65.5 6.67
B (TER[E) 59.33 5
Hh B (< PER) 55.33 10
Hh B (BE B ) 59.5 9.2
Hh I (= i ) 58.83 4.35
B EERE) 58.17 20
Hh i (FrdLTh) 63.33 6.25
(= H) 67.5 2.25




B (Z L) 65.83 7.27
MRERT (BKE ) 65 7.69
HERNERRE) 67.67 3.57
FERBR(MTEE) 70.17 0.64
8T 55.33 28.57
HETRERRE) 72.17 3.64
HEITHRETIL) 64.67 10.98
#HETHREIL) 65.17 8.2
HETHR(EMER) 66.83 5.88
BETRMEE) 50 0
BETRFRE 50 0
EETIEE) 50 20
BETE(EHT) 50 18.18
BETREER) 50 0
BEIREIR 50 0
BEITRERRE) 50 0
BETEFLT) 50 0
BEITRERRE) 50 0
BETREPH) 50 9.09
BETREIH) 50 0
BRITHR(MTERE) 67.58 2.13
BITHR(TERIZ) 65.25 8
BT B (SRR ™) 65.92 4.64
BRITR(EERRE) 73.67 5
BT (FrIE ™) 67.67 4.76
MRITE(EAX(E) 73.08 0.64
BRITH(ZA™) 64.25 4,95
BN T (S EET) 65.33 9.09




ERITER(ZAL ) 65 2.56
HE TR EFALT) 62.33 1.22
HETHR(ZESHT) 66.17 2.2
Tt E AT (Frdb ) 50 0
B ETERM(EF™) 55.17 15.38
i EtERM(=IL™) 52.5 50
nE(EERE) 60.83 16.67
AEHEMTERE) 50 33.33
AEHE(TERE) 50 13.64
A= B E (P8 50 33.33
A=HE(FRE) 60 16.67
A= HE (BEE™) 50 29.41
AERE (S ) 53.17 18.18
FEAERERE) 55.33 50
AEHE(ERRE) 54.33 20
AEHEEERE) 50 11.11
BEHE(ZHH) 53.67 23.08
B ERE(ZALTH) 50 0
A EHE(ZErRH) 50 0
B £ & B (E R 50 0
frat (it ™) 72.5 3.23
frat(ZAL) 58.83 3.03
i (& B X) (BkE™) 50 0
i () (Frdemh) 58.67 5
FitMERE) 72.58 9.52
Bit(ERE) 68.67 13.33
ERIGEL)) 67.58 7.69
St (HkE™) 64 9.3




B (&) 68 1.41
BiH(HEERE) 66.83 13.46
i (ERE) 71.83 1.85
SEt(#Et™) 66.42 9.9
Sit(Z=It™h) 67.83 7.28
RETRITERE) 54.17 10
R ITE(BKE ) 51.17 10.53
FEEITER(EIR) 61.67 22.22
RETRERRER) 60.5 4.17
TR ((FTL) 64 8.06
RETHRERRE) 68 2.86
REEITE(EIL ) 61.67 5.88
BNREERRE) 67.33 1.03
BREEEIH) 61.83 1.72
RER (B RER) 70.83 7.69
RERIN(E ) 56.67 14.29
EERMERR) 60.33 10
=R (Fre ) 54.17 6.25
BATIEMKE) 62.33 12.5
BAIREERERE) 62 7.69
BAIREFEL™) 57.17 21.43
BATEEF™) 64 5.13
BATEEIS) 51.5 16.22
BFIRE(EHED) 58.17 5
BFITEFL™) 51.67 5.26
BFIHEEI™) 62.58 4.35
BEEAEEREERRE) 61.5 5.26
BERMNERR) 55.17 11.11




BETRITER) 70.83 2.04
HETHR(IERE) 73.33 5
BAERM(MTERR) 53.33 20
BERMIERRE) 53.33 21.05
&£ B AT (B E ) 57.5 10.81
BRI (E ) 57.33 9.68
BERMERR) 50 11.11
HERMNERRER) 60.17 11.11
BB ErALT) 54.5 12.5
FERMEERRE) 52.33 7.14
18 A BT (588 ER) 50 0
Pt TA2 (FrdL ) 64 2.94
MM ITIEES) 65 2.94
IRIRITE (BB ) 54.33 10.34
RRITHRERRE) 50.5 6.67
IRIRITE(FTAL) 50 0
IR R BT (BRI ) 52.33 25
IRRB A (S ) 58.67 3.33
IRIR BT (EITRR) 50 0
RARBMERRE) 51.17 25
IRRB AT (FrALT) 50 10.71
IRREIN(ERE) 52.5 10
IRRET(ZAL ) 51.5 20
IRIRB (= iAR) 57 100
IRE T2 (FrAL ) 52.33 20
HXTEEHE(RERE) 65.33 8.33

ERlaHE



—RRBMTEE) 78.25 4.17
—RB(TERE) 82.4 4.23
— ik RE(BKE™) 84.35 2.7
— i RE (S ™) 83.55 1.43
— R REB(Z/™) 83.9 2.9
—RITE(TERE) 87.3 1.55
—RRITER (=P8R 84.2 3.68
—REATE(BkEET) 88.8 0.93
—RATE (S EET) 93.1 0.19
—RITER(EERE) 82.1 2.94
—RITHR(ERE) 88.5 0.68
—REATER(FrdL ™) 86.8 1.94
—RRATE(Z ™) 89 0.53
—RATE(ZALT) 85.6 2.47
—RATE(Z ™) 88.05 0.57
—REATER (iR 85.65 2.63
ABITR(ERRE) 89.2 1.15
ASTHR(EIL™) 82.15 3.23
FH(TTeR) 91.2 1.92
FB(sE™) 83.2 3.61
FH(ERR) 86.05 5
FE(#rdkm™) 83.35 4.37
FE(Z%h) 89.1 1.14
FE(Z=4cm™h) 80.85 5.19
MR (TE R [) 77.1 4.76
Hh R (B B ER) 86.5 1.28
HMB(EREE) 81.7 1.15
Hh g (FrdLTh) 81 3.85




B (Z L) 76.2 3.7
#HETERITERE) 86.7 3.85
HETHRIERE) 80 5.8
A ETE(RKET) 86.65 2.86
HETHR(E ) 85.5 0.96
L ETR(FALT) 81.4 2.74
HETHRERE™) 88.25 1.19
MRITE(MTEE) 78.75 2.5
BITR(TERIR) 77.6 5
MRITH(ERERER) 81.2 5.41
HRITH(ERRE) 80.75 1.47
BRITE(F AL ™) 79.4 3
B 1TE (=L ™) 76.5 3.33
% TITE(EMER) 86.3 2.78
Bt (E#rdLT™) 83.93 3.16
it (ERE) 85.4 1.15
BiH(ZEAL™H) 82.48 2.33
REITR(IERRE) 78.3 4
RETHRZES) 86 0.79
BFIHE(EI™) 82.83 1.68
EEZ&EAEEEIH) 79.85 1.76




